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RNk BEAH BRERE AN BREHY BWEE
DM2E | SHNxE| BE | SW2E | SHxE| EE | SH2F | SHMxE| BE | S F2F | Mg BE | SWM2E | SNaE| BE | SWM2E | SHxE| EE
B T & % 103 115 -12 107 108 -1 103.9 93.9 10.0 479 860 -381 445 575 -130 92.9 66.9 26.0
7 I T TR 51 52 -1 51 51 100.0 98.1 19 191 351 -160 153 257 -104 80.1 732 6.9
561X 31 26 5 31 24 7 100.0 92.3 7.7 92 196 -104 88 134 -46 95.7 68.4 27.3
55K 11 10 1 11 10 1 100.0 100.0 32 49 -17 21 25 -4 65.6 51.0 14.6
SHERK 5 3 2 5 3 2 100.0 100.0 25 23 2 21 35 -14 84.0 152.2 -68.2
SHEK 4 13 -9 4 14 -10 100.0 107.7 -7 42 83 —41 23 63 -40 54.8 75.9 -21.1
2 B W 22 24 -2 22 23 -1 100.0 95.8 42 164 217 -53 163 127 36 99.4 58.5 409
b= TR ] 6 9 -3 9 -3 100.0 100.0 29 62 -33 19 23 -4 65.5 371 28.4
F % W 2 6 -4 3 1 200.0 50.0 150.0 10 20 -10 3 14 -11 30.0 70.0 -40.0
¥ M W 5 1 4 1 4 100.0 100.0 5 25 -20 10 23 -13 200.0 920 108.0
H R W 1 2 -1 2 -2 100.0 | -100.0 7 20 -13 12 19 -7 1714 95.0 76.4
B ™ 5 5 5 100.0 - 100.0 17 27 -10 16 16 94.1 59.3 348
B 2 W 4 4 6 150.0 -| 1500 4 8 -4 8 -8 1000 | -100.0
O OR 0w - - 6 -6 7 3 4 - 50.0 -50.0
f&8 @1 ™ 1 2 -1 1 2 -1 100.0 100.0 3 14 -11 8 12 -4 266.7 85.7 181.0
W FE AT 1 1 1 1 100.0 100.0 2 9 -7 6 12 -6 300.0 133.3 166.7
* £ W 1 5 -4 1 5 -4 100.0 100.0 12 16 -4 10 10 83.3 62.5 20.8
E E W 1 2 -1 1 2 -1 100.0 100.0 8 14 -6 6 13 -7 75.0 929 -17.9
x £ W 4 -4 1 3 -2 - 75.0 -75.0 3 19 -16 6 5 1 200.0 26.3 1737
% 0O ™ 1 1 1 1 100.0 100.0 7 4 3 4 6 -2 57.1 150.0 -92.9
AR A0 BT 1 1 1 1 100.0 - 100.0 4 6 -2 6 2 4 150.0 333 116.7
MEM R SHT 1 -1 1 -1 -| 1000 | -1000 3 6 -3 2 5 -3 66.7 833 -16.6
EOERE AT 2 -2 1 -1 - 50.0 -50.0 1 3 -2 2 2 200.0 200.0
/|\ B K 2 BT - - 1 6 -5 2 5 -3 200.0 833 116.7

EEMFTEN - - - -
= A AR 8% BF 1 1 1 1 100.0 -| 1000 3 5 -2 2 -2 400 -40.0

R4 EB B0 A o BT 1 -1 1 -1 - 1000 | -100.0 1 2 -1 1 2 -1 100.0 100.0

R B BR &= S HT - - 1 2 -1

EAMAEREH 1 -1 1 -1 - 100.0 | -100.0 - -
AKERA K RIET - - 2 -2 1 3 -2 -|  1500| -1500
A K B 35 BT - - 3 11 -8 6 5 1 200.0 455 1545
I ERES ff o e BT - - 2 -2 1 1 - 50.0 -50.0
E I 1 -1 1 -1 -| 1000 | -100.0 3 -3 1 2 -1 - 66.7 -66.7




